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[B732 360 t ] [BZE 43 t ]
R ATREIZEEBRE B 20 % IN=AR MO ATWEITETREB AL 43 % ey
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b g FEEM | B A | B & Z B B E FEEH | B ] B E Z
SE A & [ 200 g 86 43 | HEARDPA BE R B 10 ke 2, 430 —
LA = R 200 g 108 — | &C T & 10 ke 5, 940 3, 024
ZEDR & [ 200 g 86 13 | 7RI E— = B 250 g 270 86
EIHONAZE D = B 200 g 75 54 | WHDH = B 250 g 270 86
BERE A 1 150 g 64 — | EERE = B 270 g 972 162
LopAEL x R 180 g 75 54 | T—N AR AT =& 0 ke 12, 960 —
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AN Y T IE 10 ke 1, 836 1,512
FEEEZ A U A ™ B 10 ke 4, 104 3, 024
< & v/ 15 ke 2, 484 1, 620
E o e P4 = A 10 ke 1, 836 1, 188
L& R £ E 10 ke 2,376 1,512
TwoHY & AN 5 ke 2, 160 —
AecH m 5 2 kg 1, 080 756
k=< k g st 4 ke 1,728 1, 296
P— & A 150 g 86 —
EzAED okl 2 ke 2, 376 1, 620
Dz w5 9 ke 8, 640 5, 940
Lok BIRE 10 ke 5,184 3, 780
ERE & I 10 ke 2,700 2, 268
ALz m B 100 g 172 97
LD L = B 100 g 64 37
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WMo AWEILAIBESZAL 3 % B bbb [ftf 21 t ] [ 9t ] [HEF+ 8t ]
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i E FEEH | B | & & % H T g FEEM | K | B E % fE
AFE <A KIEE 1 ke 2, 160 2,062 | /Y F 1 kg 3,024 1,080
mESCAHE — — — — || A J IV - — 1 ke 1,188 702
T = = 1 ke 1, 296 108 | #F = TAU R 1 ke 2, 160 1,080
BN A= 1 kg 2, 700 172 | A# FrOEk L 1 ke 1, 458 —
AT T zE 1 ke 324 108 | VU A E E 1 ke 4, 860 1,728
ANAAL D — — — — | BTy < JeEE 18 248 162
&N F TR 1 kg 1, 814 1, 350
& & A T IE 1 ke 1, 458 216
/&&= k& 1ke 3, 024 540
INE = A 1 ke 3, 780 540
7YY JbiEE 1 ke 1,728 594
AR B & 1 ke 5, 940 5, 400
T A T 1ke 3, 780 594
z=7Y BRI B 1 ke 2, 689 1, 296
BUZ FOER L 1 ke 1, 404 972




